EARAROBEEIERT — 2 N— IBISH —F

20155E7R178 (£) dm&&HE3H

IR 5 324 2 Yo% 3K ‘ [xE] & ‘ [eErE] - | 4 (H) 14000 FE
[AE£] 1 & :25,000H" ~ 2%&:41,000”M  3#%&:16,000”  4%&:11,000” / 5&:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11l | E¥Fo¥orex 3 S{L‘%gﬂ#fﬁ 1:(2_9).6 5-5-4-2 |39.0| — | 3 | 443 ;zgﬁég (BEE)
R:F15>4) B:O—LIyqyF (-3) ZREAKS
2 3| FLTEE # 3 ;\‘fgéﬁ (12:310/.21) 2-0-2-1 |39.8| — | 1 | 462 i‘g%% (ZEE)
LIV ATA—h— BVYTULITETR (-1) * EE
3l7|7| VEXK-T it 3 g’%?ﬂ (11310/233 7-6-6-6 | 38.3| — 6 438 gégé (BHE)
LAZATAR BILELNA— K 43| Xqagim
4 5| IZXE—O—IZ # 3 z«‘g{%km 1(:13/02.)4 1-1-1-3 |40.2| — | 5 | 444 EZE;E (BHE)
RL:ZY—O—LR B:I—IL KA I8LR U A
5 4| AT RN H = 3 sui_a(a)?m (12310/29) 4455 [39.9 — | 4 | 470 j;‘;gg (BHE)
AR v T4 —0 BRFaAh-I 1) ® s
6lglg|v177>77—L 3 ﬁﬁgﬁ% 1:(331).6 3334 |41.1| — | 2 | 470 ﬁig%@.aé)
:2%—bR—a B:73HL (-6) 55 Riig
2 6| TROFYL i 3 ﬁ%ﬁg‘;‘% 1(731&7 6-7-7-7 | 39.5| — 8 444 W(g)%:jléj%ﬁ@)
L:0y3940Y BAFTIZHUY- R
gl5|5|IXEHT i g | Ll Leea 8088 |92| — | 9 | 43 |RERD (EHE)
R:FFHRAFF>d B:LTF1VY—HUZ 1) eal=: e
9lglg|¥NFIO—-X it 3 #5?%2 (19349% 9-9-9-9 |43.3| — 7 41 m(g;@%;ﬁ%‘%ﬂ
LRE—ULIO-Z BTLELET )| st s
® I—F—@EBIERL
13—4— 2,3,9,4,1,6,7,5,8
Ao=5"= 2,3,9,4,1,7,6,5,8
3T—7— 2,3,9,1,4,7,6,5,8
AT =gr= 3,1,2,9,4,7,6,5,8
[ RN
B 1 940/ 794K 1-3 280 & 1-3 700/ &R 1-3-7 3,370
# B 1 220H 1-7 1,330 B E =8 720M EE 1-3-7 20,450/
3 110M 3-7 610/ BB 1-3 2,530
7 370

ABICOVWTRDTEEERROODE. TR LIV,




